World History:

The Industrial Revolution

I.  Dawn of the ______________________

A.  Turning Point- In 1750 most people were using handmade tools to work the     lands, new little outside of their small towns, and did not venture far from 
home, which was quite _________.

B.  By 1850 _______ life was disappearing, people lived in cities, people traveled to far distances, scientific prosperity increased, and the world was interconnecting.

C.  The New ___________________ Revolution



1.  Actually was the “spring-board” for the ___________ Revolution.



2.  Due to improvements in farming made by the ______ and the _______  
     
     
that increased the need for farming efficiency.




a.  Seed planting




b.  _________




c.  Soil renewal 

d.  ________________- led to more people moving to the cities   because they lost jobs on farms.

D.  ___________________- due to advances in farming (more food) and science 
 (medicine and hygiene), the death rates for babies decreased, birthrate increased, risk of famine decreased, average life span increased, and thus a growing population that continues to this day.

E.  Improved technology also spurs the Industrial Revolution.



1.  _______________ improvement of the ________________.

2. Improved _____________.

     II.  So where does the Industrial Revolution begin and why?  

